Inverse Function WS
Name _____________________





Period _______________

1.    If f(x) = 
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 and (1,0) is a point on the function,  find 
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2.    If f(x) = 
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 and (2,10) is a point on the function,  find 
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3.   If f(x) = 
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 and (-1,-2) is a point on the function,  find 
[image: image6.wmf]1

(2)

d

f

dx

-

-


4.   If f(x) = 
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 and (1,2) is a point on the function,  find 
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Given the following information answer questions 5 – 7.
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h(x) = f(g(x)) – 6 

5) Explain why there must be a value of r such that h(r)= – 5  given  that 1 < r < 3

6) Explain why there must be a value of c such that h’(c)= – 5  given  that 1 < c < 3

7)  If g-1(x) is the inverse function of g(x) , write the equation of the line tangent to the function g-1(x) at x = 2
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